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Exam. Code : 213102
Subject Code : 5670

. M.A. (Economics) 2™ Semester
MICROECONOMICS—II
Paper—MAE-ZOl A
T1me Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt five questions in all. Question No. 1 is
compulsory. Rest of the four questions can be
attempted by choosing one question from each of
four Units. All questions carry equal (20 marks).

1. Answer all the questions briefly :

(a) What is the relationship between AR and MR under
monopoly ? :
(b) Can any monopolist bear losses ?
.. (¢) Differentiate between sellmg costs and production
costs.
(d) Show how profit maximizing firm will be in equilibrium
where price elasticity of demand is greater than unity.
() What is Stackleberg's disequilibrium ?
(f) Define bilateral monopoly.
(g) What are discretionary profits as per Wllhamson 7
(h) What is Maximin Strategy ?
(1) Define externalities.
() Explain the concept of incomplete information.
2x10=20
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UNIT—I
Explain how short run equilibrium of any firm and industry
can be determined under perfect competition. 20
OR

Explain how Chamberlin's approach to equilibrium
under monopolistic competition is different from general

equilibrium ? 20
UNIT—II
Write how Cartels help in determining equlhbrmm under
collusive oligopoly ? S
OR
Write how kinked demand curve model explains price
~ rigidity under non collusive oligopoly ? 20
UNIT—III
Explain how Baumol's Sales Revenue maximization is an
alternative to Profit maximization model ? 20
OR

Write different types of technical progress and how it
affects the factor shares in any production function ?

P10

~ UNIT—IV _
Write in detail about Pigouvian measurement of Social Welfare.
How it is different from the compensation principle ?

8.5
OR
Write a detailed note on Arrow's Impossibility Theorem.
' 1120
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Exam. Code : 213102
Subject Code : 5671

M.A. (Economics) '2'“’ Semester
MAE-202 : MACROECONOMICS-II

Time Allowed—3 Hours] [Maximum Marks—lOO

Note :— (1) The first question is compulsory. Each part of
this question carries 2 marks.

(2) Attempt one out of two questions from each
of the four units. Fach question carries
20 marks.

» l. (a) Whatdo You mean by money market ?
(b) Define fiscal policy.
(¢) What is inflation ?
(d) What do you mean by natural ‘rate of employment ?
(¢) Define rational expectation. i
® How do you explain the term busmess cycle ?
(8 What do you understand by multiplier ?
(h) What is meant by prosperity ?
@) Define the term balance of payments.

- () Define fixed exchange rate.
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L3

) UNIT—1 !
State and explain the IS-LM model of general equilibrium.
OR

Discuss the effectiveness of fiscal and monetary policy in
terms of the IS and LM functions.

UNIT—2
State and explain the structural theory of inflation. .
: OR

Define Phillips curve. How does the Phillips curve explain
the trade off between unemployment and inflation ?

UNIT—3
Critically examine the Samuelson's mode] of trade cyéles.
OR
Explain the Goodwin's model of business cycle and compare
it with Hicks model.
UNIT—4
Explain Mundell-Fleming model under fixed and flexible
exchange rates. g
OR

Explain neW Keynesian approach. Give its policy .

implications.
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Exam. Code : 213102
Subject Code : 5672

ML.A. (Economics) 2" Semester

QUANTITATIVE METHODS FOR ECONOMISTS-II

Paper-MAE-203

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt five questions in all. Question No. 1 is

(i)
(i)

(iv)
V)
(Vi)

(vii)

compulsory and attempt one question from each of

four Units.

Distiﬁguish between correlation and regression.
Define standard error of estimate.

Calculate the value of R, ,,

Wibeny, b, T T L

Define growth rate.

Explain logistic curve.

Distinguish between deterministic and non-deterministic
experiments.

Define random variable.

(viil) What do you mean by moment generating function ?
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(i) Distingui
) Distinguish between Type-I and Type-II
ype-ll errors.
nents of time series.

uss the various compo

x) What i i
(x) What is stratified random sampling ?- ~ 2x10=20 4. (a) Di
: = T isc
UNIT—
: (b) Fita straight give trend by the method of least square
e the values for years 1999 and 2001 :

and estimat

91 1992 1993 1994 1995 1996 1997 1998

2 e Ratith
- ! ;
regression equation of x, on x
’ ; and X, from the

following data : :
e Year : 19
S 3 5 4 ; car
Y b Vilne faat 0 2 o R
2
P g o 10,10
32 5. (a) What is modified exponential curve 2 How is it fitted ?
3. (a) From the following data, find b (b) From the following data of the population of acity
correlation coefficient : » find out the Karl Pearson's in lakhs, find out the population of 1976 by parabolic
X : _ curve method
65 6667 67 68 69 70 :
Y: 67 72 Year (961 1971 1981 1991
(b) In a correlation stud : Population.
y the following values are obtained : (in Lakhs) : 18 22 A5, 230
1y ' 10,10
gt uNIT—1I
S.D. 25 3.5 6. (a) The probability {hat a man will b alive for 25 years
Coefficient of correlation = 0 is 3/5 and the' probabi?ity that his wif.e .wm be alive
Find th -8 for 25 years 18 2/3. Find the probabﬂny that :
: the two regression equations th: . . . . ;
with the above values N o o ® both will be .
10,10 () at least one will be alive.
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(b) - In a certain factory turning out blades, there is a
small chance 1/500 for any blade to be defective.
The blades are in packets of 10. Use Poisson
distribution to calculate the approximate number of
packets containing no defective, one defective blade
respectively in a consignment of 10,000 packets.
[Given %% = 0.9802] 10,10

(@) Two unbiased dice are thrown. Find the expected
value of the sum of the numbers of points drawn.

(b) From the following data, calculate the first four
moments about mean :
Marks : 0-10 10-20 20-30 30-40 40-50
No. of :
students : 14 46 35 35 20
10,10
UNIT—IV
Define sampling. Discuss different methods of sampling.
: 20
(a) Discuss the procedure followed in testing a
hypothesis :
- (b) Intelligence test on two groups of boys and girls
gave the following results :

Mean S.D. = Number
Girls * 75 15 150
Boys 70 20 .20
Is there a significant difference in the mean scores
obtained by boys and girls ? 10,10
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Exam. Code : 213102
Subject Code : 5673

M.A. (Economics) 2" Semester
PUBLIC FINANCE
Paper-MAEO-I
Tlme Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt five questions in all. Question No. 1 is
compulsory and attempt one question from each of
four Units.

1. (@) Distinguish between public and private goods.
(i) Distinguish between direct and indirect taxes.
(ii)) Explain Horizontal equity.

(iv) What are the effects of public expendlture on
"~ production ?

(v) Define the term public expenditure.

(vi) Explain zero-base budgeting: _

‘ (vi)). What do you mean by revenue deficit ?

(vii) Define debt trap.

(ix) Distinguish between fiscal and monetary policy.

(x) What are the functions of Finance Commission ?
2x10=20
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UNIT—I

2. Examine the role of Public Finance in developing countries
like India. 20

3. Evaluate the modern theory of incidence of taxation.

20
UNIT—II
4.  Examine the growth and structure of Public Expenditure
in India. , hh
5. Evaluate the role of Public Expenditure for promoting
economic development. : 20
UNIT—III
6.  Discuss the budgeting policy of Government of India since
.2000-01. . 20
7. Do you think that internally held public debt does ﬁot
impose burden on the nationals of a country ? . 20
- UNIT—IV

8. Criﬁcally examine the existing division of financial resources
between the Centre a;nd the States in India. 20

9. Examine the intcrd‘ependence of monetary and fiscal
* policies. i - 20
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Exam. Code : 213102
Subject Code : 5683

M.A. (Economics) 2" Semester
COMPUTER APPLICATIONS FOR ECONOMISTS
Paper—-MAEO-11
Time Allowed—3 Hours] [Maximum Marks—=80

Note :— Question No. 1 is compulsory. Attempt any one
question from each Unit.

1. (@) What are the limitations of computers ? 2
(b) How a printer is different from plotter ? 2

(c) Differentiate between positional number system and
non-positional number system. 2

(d) Convert an octal number (5435) into binary number

and hexadecimal numbers. 2

(e) Differentiate between 'save' and 'save as'. 2

(f) What is find and replace option ? 2

(2) What are the various formats that can be applied
on numeric data in Excel ? 2

(h) List various data types supported by C language

giving the memory requirement of each. 2
() Differentiate between '=' and '= =' operators. 2
() Differentiate between user defined functions and library
functions. 2
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UNIT—I

What do you mean by computer ? Draw a block diagram
of computer and explain its various components in detail.
15

What do you mean by secondary storage devices ? List
various secondary storage devices. Discuss the working
of any one secondary storage device. 15

UNIT—II

What do you mean by binary number system ? Explain
with suitable examples the procedure to convert a binary
number with fractional part, into decimal number and
hexadecimal number. 15

What do you mean by floating point numbers ? How are
these represented in computer memory ? Discuss floating
point division. Explain with an example. 15

UNIT—III

Briefly discuss the following features of MS Word : Importing
and exporting of files, inserting page breaks and page
numbers, Headers and Footers. 15

Explain various computational and graphics facilities of

MS Excel Package. 15
UNIT—IV

Explain with suitable examples various looping constructs

supported by C language. _ 15

Write a program to reverse a given string and check

whether the given string is palindrome or not. 15
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